Table OA6. Normal alkane and acyclic isoprenoid ratios of oil seeps, stains and oils

Sample# Comments Data Quality Pr/Ph Pr/Ph Pr/17 Pr/17 Ph/18 Ph/18 CPI1 CPI1 CPI2 CPI2

CPI3 CPI3 CPI4 CPI4 OEP1 OEP1 OEP2 OEP2 OEP3 OEP3

C17-C20 C2-C3 area height area height area height area height area height area height area height area height area height area height
1 Volatile loss - UCM B B 1.25 112 0.51 049 044 044 098 100 095 101 105 1.08 095 0.97 0.88 0.94 1.03 1.07 1.07 1.07
2 Volatile loss - UCM (e} B 084 086 050 048 047 046 096 0.98 0.96 1.01 1.04 1.08 092 0.95 0.87 0.96 1.02 1.06 1.06 1.06
3 A A 117 123 067 051 065 045 088 089 090 092 097 1.00 0.87 0.87 0.81 0.81 0.96 1.00 0.86 0.86
4 A B 0.75 081 047 0.37 0.71 052 1.04 104 105 103 116 1.04 1.01 1.02 0.93 0.95 1.10 1.03 1.12 1.12
5 Volatile loss - UCM (¢} C 1.08 1.27 0.61 0.72 084 057 100 100 097 100 112 115 1.02 1.02 0.95 0.97 1.06 1.09 0.88 0.88
6 Volatile loss - UCM D C 053 057 100 111 114 107 089 094 093 098 094 110 0.87 0.9 0.85 0.88 0.90 1.07 0.88 0.88
7 Volatile loss - UCM B A 1.23 1.17 035 027 027 022 1.03 1.01 1.08 1.05 1.16 1.10 0.98 0.98 0.95 0.98 1.13 1.09 1.13 1.13
8 A A 089 094 067 051 08 059 082 082 085 085 092 099 0.79 0.80 0.71 0.72 0.90 0.99 0.85 0.85
9 Volatile loss - UCM (¢} A 068 0.75 0.62 047 068 045 1.04 1.01 1.07 1.03 1.15 110 1.00 0.98 0.97 0.98 1.1 1.08 1.13 1.13
10 Volatile loss - UCM (¢} A 069 074 089 0.71 068 046 1.01 103 1.03 103 1.09 113 098 1.01 0.96 1.00 1.04 1.10 1.05 1.05
11 Volatile loss - UCM D B 059 0.60 1.01 116 095 091 1.01 1.03 1.03 1.06 1.10 1.16  0.97 1.00 0.91 0.96 1.07 1.15 1.1 1.1
12 Volatile loss - UCM D B 062 063 063 052 057 042 0.98 1.02 0.99 1.05 1.03 1.14 0.95 1.00 0.92 0.99 1.01 1.14 1.04 1.04
13 Volatile loss - UCM D C 0.34 0.38 1.03 1.06 1.25 1.06 095 096 1.02 1.03 1.07 1.07 092 0.92 0.93 0.96 1.03 1.06 0.96 0.96
14 Volatile loss - UCM D C 045 049 100 113 099 086 097 1.01 100 1.04 105 115 095 0.99 0.92 0.98 1.01 1.12 0.95 0.95
15 Volatile loss - UCM (e} C 0.51 0.54 0.61 050 069 048 0.98 1.01 0.98 1.01 1.01 1.17 094 0.99 0.80 0.89 0.95 1.12 1.01 1.01
16 Volatile loss - UCM D C 073 079 093 099 090 0.70 1.01 101 1.03 105 112 120 098 0.97 0.93 0.96 1.09 1.18 1.06 1.06
17 A A 1.39 153 0.71 054 057 038 097 100 100 100 1.00 1.09 096 0.98 0.88 0.95 0.98 1.09 0.90 0.90
18 Biodegraded F F -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0-
19 Biodegraded F F -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0-
20 Biodegraded F F -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0-
21 Biodegraded F F -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0-
23 Biodegraded F F -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0-
24 Biodegraded F F -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0-
25 Biodegraded F F -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0-
26 Biodegraded F F -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0-
27 Biodegraded A C 268 255 082 082 045 045 1.18 123 1.28 124 119 127 1.41 1.28 1.11 1.17 1.39 1.35 1.41 1.33
28 Biodegraded F F -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0-
29 Biodegraded F F -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0- -0-
30 A A 2.31 256 087 0.71 047 033 1.08 1.09 1.14 113 1.10 1.15 1.06 1.07 1.03 1.06 1.08 1.14 1.08 1.08
43 suspect contaminant A B 369 334 1.01 092 057 048 1.14 1.14  1.30 129 1.36 1.31 1.1 1.1 1.18 1.16 1.40 1.37 1.31 1.31
Notes:
Data Quality: A = best F= worst C
UCM = unresolved complex mixture CPI3= Q7 —) Philippi (1965)
Pr/Ph = pristane/phytane C2+C3
Pr/17 = pristane/n-C17 \C3+C25+Co7/+Co5+C27+Coo
Ph/18 = phytane/n-C18 CPI4 = ( - - — “ - ) based on Marzi and others (1993)
CPI = Carbon Preferential Index 2’ (C24 +C26+C28J
OEP = Odd Even Predominance Cit6CinatCi (_qi+t
1, C3+Cxs+Cu+Cun+C31 Cs+Cu+Cu+C3+C3x OBP= | = ————— = A - A 1+4) Scalan and Smith (1970)
cPl1= —/( + Hunt (1979) 4Ci+1+4Cin3
2 CutCx+Cu+Cx0+Cn Cu+Cr+Cu+Cx0+Cxn OEP 1 = centered on n-Car (i = 25)
1,,C25+C27+C29+C31+C33 Ca5+C27+C29+C31+C33 OEP 2= centered on n-Cz (i=27)
cpiz= = ( + ) Brayand Evans (1961)  OEP 3 = centered on n-Cs (i = 29)

2 Cu+Cx+C28+C3+C32 C26+C28+C30+C32+C34
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